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QUESTION 1

What statement about traditional datacenter network architecture is TRUE?
A. It adopts a 3-tier hierarchical topology.

B. Layer 3 termination is at the access layer.

C. The top-of-rack switch runs MPLS VPLS services.

D. It meets the requirements triggered by cloud computing and virtualization.
Correct Answer: B

Reference: https://www.cisco.com/c/en/us/td/docs/solutions/Enterprise/Data_Center/DC_Infra2_5/
DCI_SRND_2 5a book/DClInfra_2a.html

QUESTION 2

To auto-instantiate services on a 7750 DCI, which protocol needs to be enabled between the 7750 SR and VSD?
A. SNMP

B. Openflow

C. XMPP

D. BGP EVPN

Correct Answer: C

QUESTION 3

What statement correctly describes the difference between a managed Layer 2 domain and an undamaged Layer 2
domain?

A. A managed L2 domain has one or more zones and each zone can have multiple subnets, each with its own IP
address pool, while an unmanaged L2 domain does not have zones or subnets.

B. Managed L2 domains can have overlapping IP address pools, while unmanaged L2 domains are not allowed to have
overlapping IP address pools.

C. In a managed L2 domain, Nuage VCS manages security policies, while in an unmanaged domain, Nuage VCS
cannot manage the security policies.

D. In a managed L2 domain, Nuage VCS performs DHCP and ARP proxy functions, while in an unmanaged domain
VCS has no visibility of IP addresses.

Correct Answer: B
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QUESTION 4

What statement regarding VSC deployment is TRUE?

A. VSC can be deployed in standalone mode or in high-availability cluster mode.
B. VSC can only be installed as virtual machines.

C. VSC is based on SR OS, and thus can be integrated module on the 7750 SR.
D. XMPP is used to synchronize the active and standby VSCs.

Correct Answer: D

QUESTION 5

What statement is TRUE regarding the security policies provided by Nuage VCS?

A. The match criteria in security policies can be based on MAC address, IP address and TCP/UDP port number.
B. Each policy entry has an associated priority that defines the order in which policy entries are evaluated.

C. Ingress security policy controls the traffic flowing into the virtual machine.

D. The default ingress security policy allows all traffic to be forwarded.

Correct Answer: A
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